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AQ bc/(a+c) b B' PA' a RC' c

@ m=="C == . 1% BB'= 0B,

Hrh OB BT A4 o HATE 3.2 (2 0B = jj’_cccosg, A E 7

= BB = a+c ><2ac cosE: 2ac cosé
a-b+c a+c 2 a-b+c 2

— — 2ab C
[] T 15 AA':2—chos£, CC'=————cos—.
—a+b+c 2 a+b-c 2

cos(A/2)  cos(B/2) cos(C/2)

{5 AA":BB':CC'= : :
fLREf a(—atbtc) bla—bte) clatb—c)

#% PA:0BRC =—* 41— BB CCO
b+c a+c a+b

B cos(A/2) . cos(B/2)  cos(C/2)
C(b+o)—a+b+c) (a+tc)a—-b+c) (a+b)a+b—c)

GB b —  eob —
(3) AAB'C=LABCBsinB', thza oo)ym A8 b e yp_ C
2 u, 'B'  «a a-b+c

a’ XAAB'CZH—H ZA m- ZC LA+ 2C E_ﬁ
a-b+c 2 2 2 2 2

[E3 CB'=
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B sinB =sin(=-28)—cos B g aapc=LtiCZP PP CRixcosE
2 2 2 2 a-b+c a-b+c 2
Tz 33 map = and . =2 nl,
c— 2 a—b 2

a-b 2ab
a-b+ca-b

1 c—-b 2bc :

4 c B
WS AAB'C==x n=x sin— x cos—
s 2 a—brce—b 2 2

2ab’c . A B .
=————sin—cos—sin—
(a—b+c) 2 2
24? A . B . 2abc? . . B
[5] ¥ AA'BC=a—bczcos—s1n—sm£, AABC‘=a—bczs1n—s1n—cos£
(—a+b+c) 2 2 2 (a+b-c) 2 2 2

acot(A/2) bcot(B/2) ccot(C/2) )

LfifS A4'BC:A4AB'C:A4BC'= . -
/T & = (—a+b+0)2 (a—b+c)2 (a+b—c)2

w AB' AB —

2.(1) L= L8 ) 4B 3.3 18 CP'=abl(c—b),
Uy B'P' BP'
8 BP =CP'+BC=ablc—b)+a=aclc—b) s -8 __ ¢ _cb
u, BP' acl(c-b) a
FE 2 o9b gmgamonqy g Lo2E o4
w, c v, OB' b

2) AB':BB':CB'= AA'cot B': BB': CC'cot B' = AA": BB'tan B': CC'
& 9.1Q2) % LAB'C=7n/2-/B/2,

cos(A/2)  cos(B/2) tan(z/2—B/2): cos(C/2)

% AB':BB':CB'= :
a(-a+b+c) bla—b+c) cla+b—-c)

_cos(A4/2) cos(B/2)cot(B/2) cos(C/2)
Ca(-a+b+c)  bla-b+c) cla+b-c)

AB' c-b —_— a c

(3) H—= , B P'B'= AP', EIFER'B'= CR',
P'B' a a—-b+c a—-b+c
BB' a-+ — —
Y 9.1(1)y —=2T¢ = o -—"_Bp,
OB' b a+c
| PB:OB:RB-—2 ap.- 2 Bp.— S Tk
a-b+c a+c a-b+c

a 2bc . A b 2ac B c 2ab
: cos—

sin—: : si
a-b+cc-b 2 a+ca-b+c 2 a-b+ca-b 2

_sin(A/2) cos(B/2) sin(C/2)

.

g

c=b  a+c = a-b
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1> ASCRE sl A =/ kg0 it AE - REEFHANTRUARS =8P 0
MBS R ~ R~ MEBEAEESR & (A05% 1a, b) > HAHSIE 458 A AE =80
tEE B RS > EMEEERREENEEA (W15 2q b) -

25X

gRfrar (2005) =@ LB = RE S EBR ALY EiEHFBEERENE (=) —BEH
SBHEM RS - AR -

Bl (2006)  HA(EEIEE = APAIMNL - BE2ERE - 53065 21 -
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